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Section One A 7193 JEMBE

In this section of the test, you will have an opportunity to demonstrate
your ability to understand spoken English. There are three parts to

this section, with special directions for each part.

Part A Sentences

Directions: For each question in Part A, you will hear a short sentence.
Each sentence will be spoken just one time. The sentences you hear
will not be written out for you. Therefore, you must listen carefully to

understand what the speaker says.

After you hear a sentence, read the four choices in your test book,
marked (A), (B), (C), and (D), and decide which one is closest in
meaning to the sentence you heard. Then, on your answer sheet, find
the number of the question and fill in the space that corresponds to
the letter of the answer you have chosen. Fill in the space so that the
letter inside the oval cannot be seen.
Example ] Sample Answer
You will hear: ® © ©
You will read: (A) Mary outswam the others.
(B) Mary ought to swim with them.
(C) Mary and her friends swam to the island.
(D) Mary’s friends owned the island.
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The speaker said, “Mary swam out to the island with her friends.”

Sentence (C), “Mary and her friends swam to the island,” is closest in

meaning to the sentence you heard. Therefore, you should choose an-
swer (C).

Unit One Teens and Tens

1.

(A) I-19 is a busy highway.

(B) I-90 is the only busy highway.
(C) I-19 is not a busy highway.
(D) 1-90 is a busy highway.

(A) A doctoral degree will be awarded to forty students this se-
mester.

(B) Fourteen industrial engineers will receive their Ph. D.’s this
semester.

(C) This Industrial Engineering Department does not award a
doctoral degree.

(D) This semester fourteen students were enrolled in the Indus-
trial Engineering Department.

(A) It costs eighteen dollars to go to Washington.

(B) Eighty dollars is the price of a ticket to Washington.
(C) A ticket to Washington costs eight dollars.

(D) One way to go to Washington is to buy a ticket.

(A) A telephone call to Miami costs fifty cents after five o’clock.
(B) Fifty cents is the price of a five—minute call to Miami.

(C) After five o’clock a call to Miami costs fifteen cents.



{D) Before five o’clock it costs fifteen cents to call Miami.

(A) Thirteen degrees was the low temperature today.

(B) Today’s temperature was thirty degrees lower than it was
yesterday.

(C) Thirty degrees was today’s low temperature.

(D) The low temperature today was three degrees.

{A) Thirty—one is the rate of exchange.
{B) Thirty—to—one is the rate of exchange.
{(C) Thirteen—to—one is the rate of exchange.

(D) Three—to—one is the rate of exchange.

(A) There are ninety answers in the testbooks.
(B) All of the answers are on page 9.

(C) The testbooks have only nineteen pages.
(D) Page 90 has the answers on it.

(A) The flight at gate two is number fourteen.
(B) The flight to Dallas is number forty—two.
(C) The flight now boarding is number forty.
(D) The flight at gate two 1s new.

(A) The score achieved by half of the students tested was 450.

(B) Eight—five percent of the students passed the examination.

(C) More than 415 points was the score that half of the students
received.

(D) A score of 450 or more was achieved by 15 percent of the
students tested.

_.3_



10. (A) John will have his fortieth birthday in November.
(B) On November fourteenth John will celebrate his birthday.
(C) John is twelve years old now.
(D) John's birthday is November thirtieth.

Unit Two Computations

11.  (A) The speaker’s salary is $ 250.
(B) The speaker’s salary is $ 750.
(C) The speaker’s salary is $ 500.
(D) The speaker’s salary is $ 125.

12.  (A) The plane left at 11:30. (B) The plane left at 12:00.
(C) The plane left at 12:30. (D) The plane left at 1:00.

13.  (A) The stadium has room for 100,000 people.
(B) 7,500 people attended last night’s game.
(C) 25,000 people attended last night’s game.
(D) There were 50,000 people at the game last night.

14.  (A) Jane types half as fast as Judy.
(B) Judy types as fast as Jane.
(C) Both Jane and Judy type eighty words a minute.
(D) Jane is a faster typist than Judy.

15.  (A) The bus left at 8:45 a.m.
(B) The bus left at 8:40 a.m.
(C) The bus left at 8:35 a.m.
(D) The bus left at 8:30 p.m.
— 4 —



16.

17.

18.

19.

20.

(A) I watched for ten minutes.

(B) It was 9:30 when I set my watch.
(C) The time is 9:20.

(D)1 set my watch ahead thirty minutes.

(A) John arrived for the twelve o’clock meal.
{B) John was too late to eat.

(C) John did not plan to arrive at noon.
(D)John arrived at two o’clock.

(A) A used book is $ 6 cheaper than a new book.

(B) A used book costs $ 2.50.
(C) Mary saved $ 3.50.
(D) A new book costs $ 8.50.

{A) Her vacation lasted 2 weeks.
(B) Her vacation lasted 3 weeks.
(C) Her vacation lasted 4 weeks.
(D) Her vacation lasted 5 weeks.

(A) Eric will have one roommate.
(B) Eric wants two roommates.
(C) Eric wants to room alone.

(D) Eric will have two roommates.

Unit Three Reference

21.

(A) Ann wants us to meet her.

(B) We meet Ann at bus station.



22.

23.

24.

25.

26.

27.

{C) Ann wants to meet us at the bus station.
(D) Ann met us at the bus station.

(A) She bought him a suit.
{B) He bought himself a suit.
(C) He bought her a suit.
(D) She bought herself a suilt.

(A) Pat went to the party with John.
(B) John was invited to Pat’s party.
(C) John would not go to the party.
(D) Pat did not go to the party.

(A) It is Tom’s birthday.

(B) Tom’s roommate sent him a card.

(C) Tom’s roommate wished him a happy birthday.
(D) Tom wished his roommate a happy birthday.

(A) James went to work while his mother stayed home.

(B) James mother works at home.

(C) When James got home from work, his mother was there.
(D) James’s mother was at work when he got home.

(A) William was the woman’s grandson.
(B) Mrs. Williams's lawyer was the beneficiary.
(C) Mrs. Williams was named in her lawyer’s will.

(D) The lawyer wrote the will for Mrs. Williams.

(A) Mrs. Ayers is Dr. Smith’s secretary.

_6._



(B) Mrs. Ayers could not keep her appointment with Dr. Smith.

(C) Dr. Smith instructed his secretary that she should cancel all
of his appointments for the day.

(D) Mrs. Ayers’s secretary canceled her appointment.

28. (A) Professor Baker gives the lecture every day.
(B) Professor Baker would like to have a graduate assistant to
give the lectures.
(C) Professor Baker’s graduate assistant was asked to give
today’s lecture.
(D) Professor Baker’s graduate assistant asked him how to give
today’s lecture.

29.  (A)Mary called Bill.
(B) Mary answered Bill’s call.
(O) Bill answered Mary’s call.
(D) Mary did not telephone Bill.

30. (A) Sally gave a bicycle to her sister.
(B) Sally let her sister use her bicycle.
(C) Sally’s sister lent her a bicycle.
(D) Sally borrowed a bicycle from her sister.

Unit Four Negatives
31.  (A) She does not have many friends.
(B) It is hard for her to have friends.
(C) She tries hard to have friends.
(D) It is hard for her friends to have any. .



32.

33.

34.

35.

36.

(A) Only one student is without insurance.
(B) All students have insurance.

(C) None of the students have insurance.
(D) Some of the students have insurance.

(A) The tour was worth the time but not the money.
(B) The tour was not worth the time or the money.
(C) The tour was worth both the time and the money.
(D) The tour was not worth the time.

(A) The students saw more snow before.

(B) The student had never seen snow before.

(C) This was the first time that the students had seen such a lot
of snow.

(D) Before the students saw the snow there had been much

more.

(A) It is very dangerous to practice driving at the shopping cent-
er.

(B) Some places are better to practice driving than the shopping
center.

(C) It is better not to practice driving at the shopping center.

(D) The shopping center is the best place to practice driving.

(A) Nancy does not like to sleep late.
(B) Nancy likes nothing.

(C) Nancy likes to sleep late.

(D) Nancy does not like anything.

_8___



37.

38.

39.

40.

(A) The machine cannot be used.

(B) The machine is used less.

(C) The machine is used to make xerox copies.
(D) The machine has been copied.

(A) The first apartment was more comfortable.

(B) The new apartment was more comfortable.

(C) Neither the first apartment nor the new one was comforta-
ble.

(D) Both apartments were very comfortable.

(A) English 190 is not difficult.

(B) I hardly know anything about English 190.
(C) Other courses are as difficult as English 190.
(D) English 190 is the most difficult course.

(A) I will buy a Ford.

(B) I am right to buy a car now.

(C) 1do not have enough money for a car.
(D) I have bought a new car.

Unit Five Comparatives

41.

(A) There are more successful restaurants in the United States
than any other small business.

(B) The restaurant is a new successful business in the United
States.

(C) We have fewer successful restaurants in the United States
now.

(D) The United States has more successful restaurants now than

_.9__



42.

43.

44,

45.

46.

47.

other countries do.

{A) There was plenty of time to get there.
(B) We needed more time to get there.

(C) We had to get there in time.

(D) We had a good time when we got there.

(A) I think that the University 1s far away.

(B) The University 1s nearer than I thought.
(C) I think that 1 will go to the University.
(D) The University is not as near as I thought.

(A) Ellen does not like her husband.
(B) Ellen and her husband are alike.
(C) Tom does not like Ellen’s husband.
(D) Ellen and Tom are very different.

(A) Ann likes neither cold weather nor hot weather.
(B) Ann likes hot weather better than cold weather.
(C) Ann likes hot weather just as much as cold weather.
(D) Ann likes cold weather better than hot weather.

{A) We have not lived here long, and neither have the Smiths.
(B) We have lived here longer than the Smiths.

(C) The Smiths have not lived here very long.

(D) The Smiths have lived here longer than we have.

(A) I like jogging because it is more fun.
(B) I like to play tennis more than I like to jog.



48,

49.

50.

(C) Playing tennis is better for you than jogging according to
people.
(D) In my opinion people should jog and play tennis.

(A) Both Jeff and Tom were surprised.
(B) Neither Jeff nor I was surprised.
(C) Jeff was more surprised than I was.

(D) Tom surprised us.

(A) A steak dinner is more expensive than other dinners.

(B) A steak dinner at City Steak House is cheaper than at most
restaurants. '

(C) City Steak House has expensive dinners.

(D) Most restaurants have steak dinners.

(A) Larry’s son does not like him.

(B) Larry and his son look very different.
(C) Larry’s son resembles him.

(D) Larry a\i'i’d his son are alike.

Unit Six Conditionals

51.

52.

(A) John weighs less now that he is playing tennis all of the time.
(B) John wants to play tennis often.

(C) John knows the way to play tennis.

(D) John spends too much money on playing tennis.

(A) Mary got better grades when she studied.
(B) Mary is getting better grades by studying.
(C) Mary will get better grades.



